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1. RORZTIXRLTEHELAGTL,

1) (b = 5)(5 - b)
=-(b-50+5) = - (b?2-25) = —-b*+25

(3) (x =3y)(x2 + 9y?)(x + 3y)
= (x - 3y)(x + 3y) (x2 + 9y2)
= (x% - 9y?) (x® +9y?) = x* - 81y*

(5) 1004 X 996
= (1000 + 4)(1000 — 4) = 1000% — 4>
= 1000000 — 16 = 999984

(7) (5x + 2)2 — (5x — 2)
= (5x +2 +5x - 2)(5x + 2 — (5x — 2))
= 10x X 4 = 40x

2)23x 17 + 17 x7
17(23 +7) = 17 x 30 = 510

(4) 412
= (40+1)> =40%+2x40%x1+1?
= 1600 +80 +1 = 1681

(6)3.3x2.7
= (3+0.3)(3-0.3) = 32-0.32
=9-0.09 = 891

(8) 522 — 48
= (52 + 48)(52 — 48) = 100 x 4 = 400

(1) —b% + 25 (2) 510
(3) x* - 81y* (4) 1681
(5) 999984 (6) 8.91
(7) 40x (8) 400

2. x=17,y = 22DEFDRDADIEZRHE T LY,

(1) x2 +2xy + y>
= (x+y)? = (17 +23)% = 40% = 1600

(2) x> +6x+9+y*> -6y +9
=(x+3)?+(y-3°=(17+3)*>+(23-3)?
= 202 + 202 = 400 + 400 = 800

(1) 1600

(2) 800




